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for example while ali is rich , nima is poor
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for example — 1 We save money so that we can buy a house
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for example — 2 she went early so as to watch the film
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for example she studied a lot in order not to fail
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for example though he is a richman, he never helps anybody
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some people believe that the internet has brought a lot of benefits, ...
some others hold an opposite view .
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the kid ate a large plate of food for lunch, ... her sister just ate a snake
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some of the studies show good results, ... others do not
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for example : 91 — )L 5wl jw

i wore thick boots ... damage my feet in winter
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most student are studying hard ... prepare themselves for their exam
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he stoped his car ...to check the engine
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...we tried to stop him , he kepton ...

1 — as/talk 2 — however /talking
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i can't buy a new car, ... the prices have gone down recently
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he didn't warm clothes, ...it was very cold
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...iam trying hard to learn how the play piano,i don't seem to improve
1 — since ‘ 2 — because | 3 — whether ‘ 4 — even thoughv’
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for example i should have visited jack (buti didn't)
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A.I1din’t feel well

for example B.you shoudn't have eaten so much food
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they can’t find the book

for example they might have left it somewhere
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for example somebody must have washed it
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for example : 92 — ;25 5wl jw

A.why didn’t father answer the door bell ?
B."he ...the bell "

1 — may not have heardv 2 — should not have heard

3 — may not hear 4 — should not hear
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for example : 92 — )L 5wl jow

A."my freind failed the test yesterday "
B."it's nothing unusual. he ... more "

1 — must study 2 — should study

3 — must have studied 4 — should have studied v
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for example : 91 — )L 5wl jw

A.mary fell asleep in the class this morning .
B.she ...up too late last night

1 — must stay 2 — should stay

3 — should have stayed 4 — must have stayed v/
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